
 

 

              Problem Solving: Groups 
1. There are 4 bananas in one bunch. 

 

    How many bananas are there in:  
       a)  2 bunches?                              b)  3 bunches?   

            _____ × _____  = _____              _____ × _____  = _____                       
     

 

 

       c)  10 bunches?                            d)  12 bunches?   

            _____ × _____  = _____              _____ × _____  = _____                       
     

2. Five soccer balls can fit into one box. 
 

    How soccer balls can fit into:  
       a)  2 boxes?                              b)  4 boxes?   

            _____ × _____  = _____          _____ × _____  = _____                       
     

 

 

 

 

 

       c)  8 boxes?                                 d)  16 boxes?   

            _____ × _____  = _____             _____ × _____  = _____      
                  

    or      _____ × _____  = _____         or      _____ × _____  = _____          

 

 
 


